

$$27) z = \tan(e^{-3\theta}) \Leftrightarrow \tan(f(x)) \Rightarrow \sec^2(f(x)) \cdot f'(x)$$

$$z' = \sec^2(e^{-3\theta}) \cdot e^{-3\theta} \cdot (-3) = -3e^{-3\theta} \sec^2(e^{-3\theta})$$

$e^{f(x)}$
 $e^{f(x)} \cdot f'(x)$

$$31) k(\alpha) = \sin^5 \alpha \cdot \cos^3 \alpha$$

$$= (\sin \alpha)^5 (\cos \alpha)^3$$

$$k'(\alpha) = \underbrace{(\sin \alpha)^5}_{1st} \cdot \underbrace{3(\cos \alpha)^2 \cdot (-\sin \alpha)}_{der 2nd} + \underbrace{(\cos \alpha)^3}_{2nd} \cdot \underbrace{5(\sin \alpha)^4 \cdot \cos \alpha}_{der 1st}$$

$$k'(\alpha) = -3 \sin^6 \alpha \cos^2 \alpha + 5 \sin^4 \alpha \cos^4 \alpha$$

$$k'(\alpha) = \sin^4 \alpha \cos^2 \alpha (-3 \sin^2 \alpha + 5 \cos^2 \alpha)$$

Section 3.6 Derivative of $\ln x$

$$\frac{d}{dx} (\ln x) = \frac{1}{x}$$

$$\frac{d}{dx} (\ln f(x)) = \frac{1}{f(x)} \cdot f'(x)$$

$$= \frac{f'(x)}{f(x)}$$

ex: $\frac{d}{dx} (\ln(\cos x)) = \frac{\overset{f'(x)}{-\sin x}}{\underset{f(x)}{\cos x}} = -\tan x$

ex: $h(x) = \underbrace{x^3}_{1st} \cdot \underbrace{\ln(10x)}_{2nd}$

$$h'(x) = \frac{x^3}{1} \cdot \frac{10}{10x} + \ln(10x) \cdot 3x^2 = x^2 + 3x^2 \ln(10x)$$

$$= x^2 (1 + 3 \ln(10x))$$

$$\underline{\text{ex:}} \quad f(x) = e^{\ln(e^{2x^2+3})} = e^{2x^2+3}$$

$$f'(x) = e^{2x^2+3} \cdot 4x = 4xe^{2x^2+3}$$

$$\underline{\text{ex:}} \quad f(x) = \frac{\ln x}{\sin x}$$

$$f'(x) = \frac{(\sin x \cdot \frac{1}{x} - \ln x \cdot \cos x)}{\sin^2 x} \cdot x$$

$$f'(x) = \frac{\sin x - x \ln x \cos x}{x \sin^2 x}$$

p136 1-15 odd, 21, 29-32 all

$$5) \quad y = (\ln z)^{-1}$$

$$y' = -1 (\ln z)^{-2} \cdot \frac{1}{z}$$

$$= \frac{-1}{z \ln^2 z}$$

$$7) \quad f(x) = \ln(1 - e^{-x})$$

$$f'(x) = \frac{e^{-x}}{1 - e^{-x}} \cdot \frac{e^{-x}}{e^{-x}} = \frac{1}{e^x - 1}$$